NOTE

IC1 IS 7400
1C2 1S 7490
IC3 1S 7402
1CA IS 7447

0V TO IC1,1C3 PINY COMMON |

4V5 TO IC1,1C2 PINI4 RA-10 ANODE
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Digital Die

ICla and ICIb form an oscillator run-
ning at a few kilohertz. The output is
fed to a 7490 binary counter which is
wired to produce an output of 0 to 5in
BCD. So that the display is the same
as a dice the display must read 1-6
and not 0-5, when the output of the

7490 is all ‘O's, the display must be
made to show 6. IClc, d and IC3
perform this task, and convert an
output of 000 from IC2 to 110 (b).
IC4 is a BCD to 7-segment decoder
which drives the display through the
current limit resistors R4-R10. 3



